opsyasog g Bul

INOZVAQUIJY

oyeyooog “d'd 'Bu

YOLIEA

0oe:L

Yvas
v

3NOIZVa3Y

§1.02/10/9¢

YAl

3NON

Wiva

Al3|d||Z|D

Aal

OLvy08ava 301009

g b LA
L ISSV - 011408d I OLNIAVIOOVHL 1A VINLININY I —

341IN31SIS3 90L "S'S VT1NS FTVYNOIZ3dIdIg T
VdINVYd VT1130d OLS3NNI §3d VIHOL1VY.LOd

1S3 VSOIOIO Id OTODNIAS T

: )
( S10T/T0/90 PP V-L69£000-ZDD 104g .. . A
S s By s o &mo< I 1 <°h [
) TN ©2314veq
L@ eea V% vd'§gSvNy
- _— V1SILLIDONd )
(- ™
ﬁ\/ it LO I ZNH LSO D
_%L STIDONVSIdg4
\ LY )

FTVN1L13O0dd V1SOdOdd

1S3 BS0I0I9),, 0]OOUIAS O] 0saidwod
0GG+0L | WX 8 008+/.01 W | el}
EOIUO[ BSO|0IS) Ip BULIBI IP OJejige,||e Bula)Se SjuBlEA
YOINOT 901 'S'S
V11dd INOIZNY LSO 1d [HOAVT

I 0
7.00S°2- #005'c- X[
S el Mo Rl el e Nl =R =Nk — : — — 11910 130 OLNJWYONY
#005'c woog2 0 p=e=a %S
— — [ s =
> g £ @@ M E B B2 O£ 4 @ 94 a2 @ B oz o
= 3 - I 2 = et - o 5 8 2 - =
= e oo o oo & o = - " » 25 - 2 = - s O1L13908d IAISSID0d
(- — —_ —] —J] — — b —_ — — — — — — —
o B o on oo U g oo 3 U i al U U Gl 3 U |
~J Ul W o0 oo No) 0 0000 W ~ ~ ~ ~ ~ ~ ~J ~J
) N = O~ NN o o COLD &0 > 3 9 i e = = > 01139084 3L0NY
s — — N = — —
6 .
= - T - - S S S = 3 ONTNNTIL IAISSINOON 00z:1 Efes
- o0 00 oo 0000 o0 o0 000 0 o0 0 0 s0 00) 0 o0 =
= = = Fe e P = = = = = = = 5 OLNINVIOOVHL Id VIH1LININY 1d
o o o U] %) - Ul Ui ul U1 Ul Ul Ul Ul Ul U1 Ul
o Ul o o~ NN 9 ~ ~o o0, ~ ~ X ~ N W ~ ~ [ONdoIdLl F10NY
NG = S =0 oo J o = S ~ o — M N S 0 o0
ap o N
61'6 | 00°0T | 0001  9S'6 ¥ ¥0'6 | 00'0T | 00'8 g 0001 | 00'0T | 00'0T | 0001 [ IWIZdvd JZNVLSIA
LT 91 GT ﬂmﬁ mﬂwmﬁ 21 [T ©0T07 S 8 / 9 G 7 3 2 I INOIZ3S Od3WNN F o_/_ mwwg
I
S 29,2k
000 4118 «Qﬁo,,w,okc 4
~
NQQ/.\_@Q 4D
7 oy
XY
\l Il\l‘l ~ ||"n|’
\\\\\\\\\\\\\\\ o
\ - ) S
\ S | ola o
— ol
Slw an|®
7 ) 2111 [opJo] CE21 | 9PJ40)
W 00G2  [wozs cll'l L 9Ec 1 L 8//2 w024 G2le  |W024
ok = H 0100 3 10'0 3 = i = -
5 v 00002 g 000'81 3 : - 5 <
" =09 i 989'91 | 07 9550 o 819'0 i /176 | ©°0 €187 | ©°3
9G 611 id £281] a3 0100 3 P00 J 8990 SE 7870 a4
€20°0 E 21241 | A Sl o mﬁmm.ﬁ WH 6€86 | /S €687 | AS
Sv/'E 1 0876 | Uol 180 1 clv{ 9y0G | Yol 620y | uol
00€ J 6¥ v wmmm s wm%% L TE 9 82 59
_ 000'8T 00091
Py 00002 m% 2 5y L e 8 . uw_ m%
ol = 2111 AS GeEZ'T AS
AR R 0|® TN S1.¥ ] S1.% v _ :
3| 2| %|c) N 220BSET- | et ¥ S < ES0C6EL- | 0SETGET- | _
BS7'189€ A = A 066'159€ 620'989€
ECET= EY 0BET- T8ET- GBET- 72 06ET-
PO0ECET- [ IR . ZE00BET_[ ZEACRIREI PN 02LGBET- [ 2596 |
c0'S g 08'C D 687 ¥99€ 698'659€ 19%'G9SE 217'999€ 6/S5699€ 29£'0/9€
70'60] ad 0028 o
110°0 VE 10°0 a4
£29'7 1 10S¥ 1 .
162 |9opJ0]
0001 d 0007 o E6T2 I
c2le [wo2d 829 [wWo2d 00G2  [wW02d _
EA 2A - = = - = - 0v00 3
0 H 0 H 0 - UL =
: SGBEl [9P407 _ 0229 [0p407] _ C60'T WX
€187 Ch) 5570 k) 1880 o)
780 od 000'91 2y 1000 T3 000'02 2y c000 T3 0%0'0 A
crsy | aS 00008 I o 00008 TS S e 0612 3%
6207 | Vol BES'S 2l 28E0 | uol LYLE Pl Trv'0__| Uol 1€L0 |
gkedn = 008 R e =4 TRonng =4 YZNIINId 82 5 92.'8 ; Sy 10S'2 1L e 59 19%'T 11
vo - 500 = u c2 = u 200 = u Y10n0 10 4410 LT AT 000°S1 d 12 c40uy 00008 d <l EELEL 00002 A Uio 0 -
= T [ JBUY = T 1JBuy = £ JBuy
22071 AS 0E2'S AS T6le AS
|
_ 9%/ 91 — 68821 — 0299 -
620'989€ 3 A 8ST02LE r—ry G21G69€ 5
SGET- TOvI- B0vI- 0Tvi- Tivi- TTvi- 9ee Lavi-
vaS9eEl |, 2SSOV [ EC8BOVI- | SEZAiA N PRSI [ 687 e oy w
29€'049€ 125'G/9€ ¥09'E85E 982'/8SE /11'069€ /G2169€ £CC'8//€
I oN 4SSV




